Ex 3c

1a)

[image: image1.wmf]45

.

0

4

.

0

17

.

0

68

.

0

45

.

0

4

.

0

)

(

´

¹

=

-

+

=

Ç

B

A

P

  A and B are not independent.

 b)
P(A) = P(B) = P(C) = 0.5



[image: image2.wmf]25

.

0

)

(

)

(

)

(

=

Ç

=

Ç

=

Ç

C

A

P

C

B

P

B

A

P



Since P(A)P(B) = 
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  A and B are pairwise independent. (Same for the other two.)
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  So A, B & C are not mutually independent.

2)
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  So B & C are independent.

3a)
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 b)
P(F) = 0.7 – 0.4 = 0.3

 c)
If E and F are independent, then 
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, F are independent.
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Another method:


Consider 
[image: image10.wmf])
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0.7 = 0.4 + P(F) – 0.4P(F) 
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